MATLETKER
FRZK B ER

Hoo®

ﬂgl

T = fr &
Hh £

MA™T KERHETITE HA

e % HERENR T

I %= & NHETKEFR2IR FLENRTHEHREISE BWHRHFEZD)

% T #H R
i & H #®

32 18 15H T E B ¥ H

NO,1- 2 A4S —h
T™M—1 MR EEN—>—45—k 2 1 =®
W1200XH2300

NO,3-4R{ AT —k
_ MR EEBIO—5—4—k
T™M=2  \W2600XxH2300 2F1

_ IR = S EE )
™=3  fwL—#szt) 28 1R
#~tiERY)—YyW2500XH4300, B 1540X75° 2;th

NO,3-4#i B EBIBRER (EE )

s L, | MREEDRER ~
t K B T™™—4 R 26 1 R
05t 3% 27— W4500XH4300, B #840X75° 2ith

LBt

_ 30—320° +o7RH "
™—=5 W600XL22mX20m/min 1% =

LEavT+
TM—6 |4t7—LO—J)LA3TF 15 1 K
8.2m3

INRY TS ER T —k
T™M—7 |[SR&EFEHO—5—5—F 1P4 1 =K
W1800XH1800

T = {4 374,265,000

B OEt & & € 404,206,200 Ftb ZE

mEmsmsm 29,941,200 At

(A mE FKEm]]




AT BZFE RN RE
& H I & B Al i | HA(#H=| B M & %8 ] H
AIEE
HEERE = 1 290,142,000
FT(EERE) 290,142,000
EIE
[ {f BiEIEE
HEE = 1 15,507,000
B = 1 4,800,000
BEEIE = 1 1,311,969
BEEREE
(BEWARE) 5 ] BT 1 790,140
R E = 1 4,825,521
H(EEIEE) 27,234,630
FiEIEE HBREE = 1 7,677,442
HIGERE = 1 12,072,594
EAEEE = 1 8,775,900
(EEIEE) 28,525,936
5t (3BT TE R ) 55,760,566
RETHUTE =R 1 10,065,764
TERH 355,968,330
—REEESE = 1 18,296,772
T (T E1{MK) 374,265,000
HEMEHELE = 1 29,941,200
it GRETE5R) 404,206,200

(&5 E kK& ]|




